20‑2
(Key Question)  Assume Al, Beth, Carol, David, and Ed receive incomes of $500, $250, $125, $75, and $50 respectively.  Construct and interpret a Lorenz curve for this five‑person economy.  What percentage of total income is received by the richest and by the poorest quintiles?


See the figure below.  In this simple economy each person represents a complete income quintile—20 percent of the total population.  The richest quintile (Al) receives 50 percent of total income; the poorest quintile (Ed) receives 5 percent.
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20‑5
(Key Question)  Briefly discuss the major causes of income inequality.  With respect to income inequality, is there any difference between inheriting property and inheriting a high IQ?  Explain.


The reasons for income inequality are:  differences in abilities and talents among individuals, differences in the amount of education and training an individual obtains, labor market discrimination, differences in tastes and preferences toward work and job attributes, inequality in the distribution of wealth, the ability to use market power to transfer income to oneself, luck, connections, and misfortune.


A high IQ normally does not lead to high income unless it is combined with personal initiative and favorable social circumstances.  Inherited property—as long as it is competently managed—provides income irrespective of one’s character and personal attributes.  Both factors are largely a matter of the luck of being born into a family with good ability genes and/or wealth (Warren Buffett’s “lucky sperm club”).  What one does with the genes or wealth is up to the recipient.

20-10
(Key Question)  How do government statisticians determine the poverty rate?  How could the poverty rate fall while the number of people in poverty rises?  Which group in each of the following pairs has the highest poverty rate: (a) children or people age 65 or over?  (b) African-Americans or foreign-born noncitizens?  (c) Asians or Hispanics?


Government statisticians determine who is officially in poverty by comparing family incomes to a threshold based on family size.  The threshold is intended to represent the minimum income needed for that family size to satisfy basic needs for food, clothing, shelter, and transportation.

The poverty rate can fall, despite the number in poverty rising, if the population grows faster  than the number of people in poverty.

(a)
Children have a higher poverty rate (17.8) than persons 65 or over (9.8).  

(b)
African-Americans have a higher poverty rate (24.7) than foreign-born noncitizens (21.0).

(c)
Hispanics have a higher rate (21.9) than Asians (9.8).

20-12
(Key Question)  The labor demand and supply data in the following table relate to a single occupation.  Use them to answer the questions that follow.  Base your answers on the taste-for-discrimination model.
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a.
Plot the labor demand and supply curves for Hispanic workers in this occupation.

b.
What are the equilibrium Hispanic wage rate and quantity of Hispanic employment?

c.
Suppose the white wage rate in this occupation is $16.  What is the Hispanic-to-white wage ratio?

d.
Suppose a particular employer has a discrimination coefficient d of $5 per hour.  Will that employer hire Hispanic or white workers at the Hispanic-white wage ratio indicated by part c?  Explain.

e.
Suppose employers as a group become less prejudiced against Hispanics and demand 14 more units of Hispanic labor at each Hispanic wage rate in the table.  What are the new equilibrium Hispanic wage rate and level of Hispanic employment?  Does the Hispanic-white wage ratio rise or fall?  Explain.

f.
Suppose Hispanics, as a group, increase their labor services in this occupation, collectively offering 14 more units of labor at each Hispanic wage rate.  Disregarding the changes indicated in part e, what are the new equilibrium Hispanic wage rate and level of Hispanic employment?  Does the Hispanic-white wage ratio rise, or does it fall?

20-14
(Key Question)  Use a demand and supply model to explain the impact of occupational segregation or “crowding” on the relative wage rates and earnings of men and women.  Who gains and who loses from the elimination of occupational segregation?  Is there a net gain or net loss to society?  Explain.


See Figure 20.7.  Discrimination against women in two of the three occupations will crowd women into the third occupation.  Labor supply in the “men’s occupations” (X and Y) decreases, making them high-wage occupations.  Labor supply in the “women’s occupation” (Z) increases creating a low-wage occupation.


Eliminating occupational segregation would entice women into the high-wage occupations, increasing labor supply there and reducing it in the low-wage occupation.  The wage rates in the three occupations would converge to B.  Women would gain, men would lose.  Society would gain because the increase in output in the expanding occupations would exceed the loss of output in the contracting occupation.
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(b)
The equilibrium Hispanic wage rate is $12; the equilibrium quantity of Hispanic employment is 36,000 workers.

(c)
The Hispanic-to-white wage ratio is .75 (= $12/$16).

(d)
The employer will hire only white workers because the $5 discrimination coefficient exceeds the $4 difference between the wage rates of whites and Hispanics.

(e)
The new equilibrium Hispanic wage rate is $14 and the new equilibrium quantity of Hispanic employment is 44,000 workers.  The Hispanic-white wage ratio rises to .875 (= $16/$14) because of the increased demand for Hispanic labor in relation to the unchanging supply of Hispanic labor.

(f)
The new equilibrium Hispanic wage rate is $10 and the new equilibrium quantity of Hispanic employment is 20,000.  This Hispanic-white wage ratio falls to .625 (= $10/$16).










